GATqul - SoLutions AS“SI'?N" O >
SSCT)OM 1Z . ] |

P.343
#6 ozl = |14
HI0 —

*20 (o) V75U = CBg;\(qép =[-12 (b) =[12]
F24 =N en Vi = i) - @’]
#26 (o) ___j,?.z; - 7]

by L[]

#36 NT-Tes - []-20)]

U2 2R 4+ Uz 202 + 303,

# 50

> (2+24)




R e R R T R A

2%""@7&34—3 :\3,&_—?4_7.3)
o e 1y = 20y
2AFYE"S =7 y=2x-3

2 “4 =t => X etz =F

="

x=
j: —2(\/25_3 :-»L’
~ 2 ‘

#s8

pLUS N Sa
@J'Y’Lﬂg}' = 2?3’3-#2?3 = *-7_434‘(273 =0
%J s A S@Lu*‘ﬁer\q |
Ca » ’ . . _ S +2?-
—3: N\ ogi = —234% +2F4 = 27 3t
L d) J 5 - 544 + O

¢ o~ot A solotiord

—?)J

)



86@',101\1 2.2, ﬁ'SHQ’
10 e (75
12 Fg'i‘g"*]'J—o.Qggﬁ)g

1o (8 vﬁ)(q..}qj’) zl,.@ +%8ﬂ

# 22 gzﬁ-m-rg :_ﬁj’)__ma._*_g
| A7 B I
t:¥g - BJij%J
226G

( t.Lé)CI-a’)l = 2 (nvéy - Z_ZAQ ,

o

#30 m C_EL'"_J_\ - _-2_4—393'
3- 4 (3+L4J> —

#37_ Js“"JS

= 43/56 _ 23 (3«;\3 B 24'&@) |

= |+ 34
5 ]

INTO X1'2X+2

1Y s+ 2 = 2 -2 y2 -[0]
# 3%  plog 1-j¥3 inTO

: ’L_.i—-'?..‘)( ‘ . _ \
(-3) 44 -2 (1 V D



#us

Zy = @3 (=)

Q2*+3J3 + (.%LLB>

= (84 stp)
(5 - A) CS+GD

=199 +23/5)]
20 ¥

Seation 2.3 p 347

#¥30 @- { | @ -~z
1. Ccsr\JU%AE @ ~2-‘—1J)_
Ok f > © N.Q%ATNQ @ z—qc';)

#¥32

-
.6 ¢

N ——— C.Qr\JQ%A;l’e) 5‘]’3,:

" © Ns:%/:\’n;ve, © -5+3)



